QJustMaths

M1: a) b) c)
50 7 20 3 30 8
5 9 6
M2: a) b) c)
20 1 30 2 40 3
6 7 5
M3: a) b) c)
50 9 70 6 70 2
4 6 8
M4: a) b) c)
20 7 80 3 90 6
9 9 7
SHOULD
B Draw the grid and then solve the following
Sl:a) 4x26 b) 5x72 c) 6x34
S2:a) 4x68 b) 8x 36 c) 3x97
S3:a) 9x27 b) 6 x83 c) 6x57
v S4:a) 8x63 b) 9x74 c) 7x86

F2 288 285 747 207
666 243 672 204
224 298 360 456
342 104 o082 215 504
126 236 243 576
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Fill in the missing numbers

Cl: a) c)
30 3 70

12 140 12 5| 200 35

C2: a) C)
- 5 20 - 90 6
_ | 180 15 140 28 18

C3: a) C)
- 6 60 4

42 240 540
= 392 = 280 =

C4: a) C)

6| 420 12 60 21 100 35
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